No Bap

3aganug A-B

Samauus I'

m/z

Crerneun
TOYHOCTH

11 m7, 946R7/h6, 614P7/h6, 240H8/h8, 020 s6, 11 H8/m7, M10x1,5, a16R7/h6, ¢124e8, 932L0/k6 o80r6,
970F9, ®41E11, 058N7/h6, 38 g6, 958N7/h6,6 110H7/s6,38k7, 38 H7/96,6090H7/p6, 946M6,46H12, 930Js7,
M100, B¥22R8, 820Js7/10, 930k6,0796, 90M7/k6, 45H11/d11, ¢30L0/h6

2120

7

9122M8, 90M7/k6,046H6/16,90f7, 6122M8/h7,068H7/s6, 99K8,47H8, M12x1,5, 38h6, B¥29U7, ¢72Js7/h6, o
100H7/10, 100E9, ¢72Js7/h6, ¢102D10, 975H11/d11, 100E9/h6, & 100L0/k6, 934K 7/h6, 43F9, M14, ¢1416,
014D11, 34Js6, 040L0/k6, @16H11/d11,670J56, 10H7/h6

2,5/18

o9R7, @ 20L0/k6, 100H7/h6, 618H7/h6,14h609R7/h6,110H7/h6, 35N6, 06L0/k6, 040H10,068G7, 0 105RS,
@19P8, M16, ¢18H11/h11, 685H12, a84P6, 018H11/h10, 012H7/10, 2100M7/h6, 685H12/h12, 29H7/m6,
048G7,020s6, 1618,021A14, M8x1,25, 8Js8, 9145H9/19, 954L0/h6

4/26

19H11, ¢145H9/19, 972M7/k6, 66h12,19H11/js10,620 H7/p6, 18Js8, a77N6, 055k7, 9042L.0/k6, 2857, M18,
a122H7/e8, a88Js7/10, 823h5, 6122H7/e8, 6150H6, 61 1H7/s6,6200h7,623 H6/h5,665 H7/r6, 671D8,028K8, M8,
2¢110e7,38D11, @16H11/d11,25H8/d9, & 120H7/10

2/30

59K8, a73H7/g6,040H8/h8,88p6,59K8/h7,660H8/h8, M16, 35M6, 630S7, 684P6, 060 L0O/k6,023F9, ¢134H8/hS,
044d10, 25H8/d9, M22x2, 28H7/js6,57¢9,044 H10/d10,010H9/h9, 17Js8,33n7,010E9, ©¥39G9, 922H9/d9,
980H7/r6, 60D9,044Js7,125p6, M27, 51H7/h6, ¢120Js7/10

3/50

148all, 0134H8/h8,010D8/e8,0103m7,148 H11/all, o 84Js7/10, 072H8/19, 610E9, M20x2, 046h7,45Js8,18H6,
25H8/d9, ¥20b14, 39H7/g6, 125H8/{8,0150H6,020 H14/b14, 6100D8/e8, a85h9, 065M8, 26R7, 24,024K,
0105F7, 930k6,073H7/g6, 96148L0/h6, M8x1,25

4/56

014c12, e115H9/19,672H7/K6, 020 H6, @14H12/c12, 6140H7/10, 952H7/m6, 952R7, a80H9, 93656,
M27,0115H9/19, 45d11, 946R7/h6, 040L0/k6, @16H11/d11,670J6,45 H11/d11,6125 H7/h6, 0122H9, 397,
060D8, 29C12, 946R7/h6, ¥29U7, ¢72J57/h6, @ 100H7/10, M33

2/40

067el2, 958N7/h6,78H7/17,125g6,067 H12/e12,690]s7/h6, 045h10, M24x2, 9616g6,148d10,016B11, 658N7/h6,
o 160Js7/10, @108, 90M7/k6, o 10H7/f7, 28L0/h6, 389,310 H8/f8,014K7/h6,30r6, 54m7, 14h6,025N6, M27,
90M7/k6, 0110H7/10, 948G7,020s6, 16f8,021A14,

2,5/44

3997, M24,672Js7/h6,050H7/e7,12n7,39 H8/97,099H8/d9, 85d10, 937h8, 95M6, 30M8, ¢72Js7/h6, a80Js7/10,
46h6, 80H7/h6, @37F9, 9122D8/e8, o115f6, 46 K7/h6,680H7/r6, 60D9,044Js57,125p6, M27, 51H7/h6,
9112Js7/10, M24x2, ¢16g6, 75H7/x6,148d10,067L0/K6, ¢134H8/hS,

4/60

10.

?100js10, 18H11/h11, M64, 855P7/h6, 622F9, @100H11/js10, a120H7/s6, a50M8, a105F7, a30k6, B26H7,
¢18H11/h11, 922 LO/h6, B@46k6, 6145H9/f9, a40H8/h8,660M7,046 H7/k6,49H7/m6, M56x3, ¢12P6, 120G7,
29096, D36R6, a145H9/f9, 944d10, 952Js7/10

1,5/38

11.

72m8, 0122H7/e8, o 16L0/K6 096H9/d9,084J57,72 H8/m8, 32M7/h6, 23h8, 50R7, 099d9, @27h7, 0122H7/e8,
M72x4, @54p6, 673H7/g6, B60HT/js6, 75K8,054L0/js6, M30,8H7/js6, 14E9,68D10,86js7,15k8, 39H7/g6
0102Js7/10, 125H8/f8,6150H6,020 H14/b14, 75H7/x6

2,5/30

12.

06,5n6, 9134H8/h8,090M7/h6,650D8, ©6,5 H7/n6, 942P7/h6, 677G6, 090R7/h6, M42,15P8,014H11, ¢ 80H7/IO0,

3,524




17p5, 25H8/d9, 78H7/f7, o719, 17 H6/p5,30Js7/h6, 935n7,048M7/k6,18E8,07m6, 922H9/d9, M33, 024L.0/h6,
2100r6, 8120H7/56, 650M8,0 105F7, @12 H8/s8,035H6/f6,

13.

06917, 39H7/g6, M36,010H8/h7,0625H9,069 H7/r7,55H7/e8, 044L.0/k6, ¢89¢8, 38H7/h6, 636D10, @12js7,
0134H8/h8, D12s8, 922H9/d9, M48, 0144H7/f7, 6100r6,012 H8/s8,035H6/16, 612m6,18H7/s6, 9100KS,
?331n8, 25H8/d9, M24,672Js7/h6,050H7/e7,12n7,39 H8/g7, ¢60Js7/10

5,0/72

14.

15u6, 0115H9/19,58H7/e7, 954 LO/k6, 34€8, 15 H7/u6,86H7/p6, 956n6, 48N7/h6,0105H9, 54D9, M36,073H7/g6,
o 60H7/10, @75x6, 946R7/h6, 100M7/h6, 58K7, 75H7/x6, 674K 7/h6, 86h10, 56M7/k6, 6100D9, @118P7,
946R7/h6, M72x4, 930L0/h6, 75K8,054L.0/js6, M30,8H7/js6,

2,0/36

15.

041E11, 958N7/h6, M48,0660R7/h6,26M7,041E11/h10,621H7/h6, 70E9, ¢94Js7/h6, 674L0/h6, 630H6,031h5,
258N7/h6, ¢ 90Js7/10, @22R8, 90M7/k6, ¢ 130Js7/10, 78H7/f7,064H10, 22R8/h7,020H7/r6, 0115D9, 64H8/{8,
10H10, ¥55F9, M80x4, 90M7/k6, 17 H6/p5,30Js7/h6, 935n7

2,5/40

16.

029U7, M42, ¢72Js7/h6, 058M7/k6, ¢122h6, ¥29U7/h6,037Js7/h6, 0110Js8,650H11/d11,055E9, 11 m7,
246R7/h6, @ 90H7/10. 3456, 100H7/h6, ¥50L0/js6,16r634Js6/h6,0150R7/h6, 97d11, 50P7/h6,26h40, 652L0/K6,
M48,38 g6, 54D9, M36,073H7/96, & 60H7/10, 958N7/h6, M8,

4,0/32

17.

D19P8, ¢18H11/h11,040H8/h8,015g6,019P8/h7, ¢ 70Js7/10, M42x3, ¢70H7/36,24G7, 60H7/js6, 38{6,6122M8,
90M7/k6, M16, ¥21A14, a95R7, 6145H9/19,690M7/h6,06140D8,021A14/h14, 665P7/h6, 90n7, 946Js7/h6,
O75x6, 928L.0/h6, M72x4,100E9, 672]s7/h6, 54D9, M36

3,5/38

18.

28S7, 9122H7/e8,6100R7/h6, 38S7,28S7/h6,655P7/h6, 926K 7/h6, 24k7, 99R7, 100H7/h6, M48x3, o 46H7/10,
38D11, 26M7, 25H8/d9, 988Js7/h6, 0655N8,38D11/f10,014N7/h6, 48N7/h6,6105H9, 064H10, 036H11/h11,
032Js7/10, 685H12, 918H11/h10, 630L0/n6, 673H7/g6, 060H7/10, 05g6,

3,0/44

19.

023F9, M6,0134H8/h8,50H7/h6,18Js8,023F9//h8,25R7/h6, 122h6, 656H7/10, 684H11/d11,0100E8,19H11,
0145H9/f9, ©39G9, 922H9/d9, 614H8/h8,671D8,039G9/h8,046H8/9, 16r6, 990H11/h11, 120Js7, ¢23h5,
926L.0/m6,0122H7/e8, M42, 60H7/js6, 38f6,0 80K7/10

2,0/18

20.

18H6, 25H8/d9,065H7/g6, 35M6,18H6/n5,70D8/e8, o650 LO/h6, 01596, 036H6/f6, M48x3, 038D 10,59KS8,
073H7/g6, @24K, 073H7/g6, o18h11, 036H8/9, 17J58,0024K6/js5,0124H7/p6, 6140D8, 010H8/d9, 630K7,
044d10, M10x 1,25, 25H8/d9, o72H7/10, 622J57/10, @100js10,

3,5/42

21.

018M9, M14,06115H9/f9,030L0/js6,010E9,018P7/k6, 46Js7/h6, 920 s6, 628H9/d9,0125r6,148al1, ¢134H8/h8,
29C12, 946R7/h6, M6, 78H7/f7,685 h9,29C12/f11,26H8/d9, 38k7, 19H7/m6, ¢4696,020b14, 39H7/g6,
9110Js7/10,24G7,60H7/js6,38f6,6122M8, 19H11, ¢145H9/f9

3,0/60

22,

016B11, M72x4, 0658N7/h6,040H8/h8,052R7,016B11/F10, ¢42L.0/h6 045H7/s6, 9017, 044H8/18,670€9,014c12,
o115H9/19, @25N6, M64x4, 634H6,90M7/k6, 020N7/h6, 612P6,025N6//h6,045K7/h6, 102D 10, 6100H7/h6,
45d11, 946R7/h6, 955J57/10, 39H7/g6, M14x2,

5,0/44

23.

30M8, ¢72Js7/h6,080M7/k6, @ 36L0/k6, 23h8,30M8/h7,680H7/m6, 14h6, M56x3,
950Js7/10,075H7/js6,058h12,067¢12, 658N7/h6, @37F9, 100H7/h6, @42L.0/k6, 14E9,037F9/19,028H7/s6, 35N6,
025H9/19, 626k6,010f8, 90M7/k6, M22, 938D10,59K8, ¢73H7/g6, @36R6/h6

2,5/46

24,

026H7, 918H11/h11,0666H7/r6,077G6,026H7/u6,670R7/h6, 066h12, 070H7/s6, 9080N8,39g7, ¢72Js7/h6, M24,
©18L0/h6, D36R6, 835n7, 9145H9/19, M56x3, ¢55H7/10, 045H7/s6, @36R6/h6,650R7/h6, 8200h7, 652K 7/h6,

3,0/16




922])s8, 46h6, 100H7/h6, 0 421.0/k6, 6145HI/T9, ©39G9,

25

023F9, M6,0134H8/h8,50H7/h6,18Js8,023F9//h8,25R7/h6, 122h6, 656H7/10, 684H11/d11,0100E8,19H11,
0145H9/f9, ©39G9, 922H9/d9, 614H8/h8,671D8,039G9/h8,046H8/9, 16r6, e90H11/h11, 120Js7, ¢23h5,
226L.0/m6,0122H7/e8, M42, 60H7/js6, 38f6,0 80K7/10

26

D18M9, M 14,0115H9/f9,030L0/js6,610E9,018P7/k6, 46Js7/h6, 920 s6, 628H9/d9,0125r6,148al1, ¢134H8/h8,
29C12, 9046R7/h6, M6, 78H7/f7,685 h9,29C12/f11,26H8/d9, 38k7, 19H7/m6, 94696,020b14, 39H7/g6,
©110Js7/10,24G7,60H7/js6,38f6,6122M8, 19H11, ¢145H9/f9

27

30MB8, ¢72Js7/h6,680M7/k6, @ 36L0/k6, 23h8,30M8/h7,680H7/m6, 14h6, M56x3, 850Js7/10, a75H7/js6,
058h12,067e12, 58N7/h6, @37F9, 100H7/h6, ¥42L0/k6, 14E9 ,037F9/f9, 028H7/s6, 35N6, 025HI/T9,
226k6,010f8, 90M7/k6, M22, 938D10,59K8, ¢73H7/g6, @36R6/h6

28

28S7, 9122H7/e8,6100R7/h6, 3857,28S7/h6,655P7/h6, 026K7/h6, 24k7, @9R7, 100H7/h6, M48x3, @ 46H7/10,
38D11, 26M7, 25H8/d9, ¢88Js7/h6, 655N8,38D11/f10,014N7/h6, 48N7/h6,0105H9, 964H10, 636H11/h11,
032Js7/10, 985H12, 918H11/h10, 930L0/n6, 973H7/g6, 060H7/10, 6596

29

016B11, M72x4, a58N7/h6,640H8/h8,052R7,016B11/F10, a42L0/h6 945H7/s6, 90f7, 044HB8/T8,670e9,014c12,
o115H9/f9, @25N6, M64x4, 9634H6,90M7/k6, 620N7/h6, 612P6,025N6//h6,045K7/h6, 6102D10, 100H7/h6,
45d11, g46R7/h6, ¢55357/10, 39H7/96, M14x2

30

15u6, o115H9/f9,58H7/e7, 054 LO/k6, 34e8, 15 H7/u6,86H7/p6, 056n6, 48N7/h6,0105H9, 54D9, M36,673H7/96,
2 60H7/10, @75%x6, 046R7/h6, 100M7/h6, 58K7, 75H7/x6, 674K7/h6, 8610, 56M7/k6, 6100D9, O118P7,
946R7/h6, M72x4, 930L0/h6, 75K8,054L0/js6, M30,8H7/js6




